FEEEFEETERELHRARBRETRR

B TFE A AH BE RE KUY RS M X O MX ME $BE @5 nxE EE 53x KM

100 6.0 11.0 9.0 10.0

200 5.0 3.0 13.0 5.0 10.0

400 5.0 3.0 1.0 8.0 4.0 6.0 2.0

800 6.0 3.0 15.0 12.0

3000 4.0 1.0 7.0 17.0 5.0 2.0

110mH 1.0 4.0 9.0 14.0 = 8.0
{&4 % 100 6.0 2.0 4.0 8.0 1.0 3.0 5.0

4 x200 6.0 1.0 5.0 8.0 2.0 3.0 4.0
t &t 16.0 13.0 15.0 10.0 /14.0 12.0 : 81.0 34.0 1 2.0 17.0 57.0 114.0
E =Bk 1.0 4.0 6.0 16.0 9.0
S Bk 8.0 14.0 4.0 9.0

7 g Bk 6.0 17.0 1.0 12.0
=Bk 2.0 4.0 15.0 5.0 1.0 9.0

L RER 40 80 3.0 7.0 6.0 5.0 3.0
M A% 5.0 1.0 6.0 8.0 1.0 1.0 2.0
f &&t 12.0 9.0  10.0 16.0 | 7.0 58.0 . 6.0 17.0 1.0 15.0 4.0  48.0 12.0
B FIEHL 16 5 10 12 8 6 9 11 1 13 3 15 16 4 14 2 1
BFHR 28.0 113.0 9.0 ' 25.0 :26.0 21.0 :12.0 139.0 : 6.0 . 51.0 | 3.0 32.0 4.0 1 105.0 126.0
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100 1.0 4.0 11.0 8.0 6.0

200 11.0 ' 1.0 15.0 2.0 1.0

800 10.0 9.0 10.0 2.0 5.0

2000 9.0 8.0 1.0 16.0 2.0

100mH 8.0 6.0 2.0 1.0 3.0 10.0

{&4 x 100 5.0 6.0 2.0 8.0 4.0 3.0 1.0
4x100 1.0 2.0 8.0 3.0 6.0 1.0 5.0 4.0
t &t 20.0 | 5.0 17.0 . 46.0 3.0 | 3.0 47.0 2.0 | 54.0 15.0 39.0

E =k 6.0 4.0 5.3 1.0 8.0 5.3 1 0.5
7 1 Bk 9.0 1 2.0 5.0 5.0 1.0 8.0

[ RER 4.0 1.0 8.0 13.0 5.0 5.0

M A% 2.0 1 6.0 11.0 5.0 1.0 11.0
f &&t 4.0 1.0 15.0 112.0 :123.0 15.3 28.0 200 . 1.0 24.3 1 0.5
ZFIESL 1 10 12 8 4 9 6 15 3 11 1 15 15 5 12 2 14
TR 24.0 1 5.0 . 1.0 :17.0 | 61.0 115.0 126.0 62.3 2.0  82.0 36.0 . 1.0  63.3 | 0.5
t JIE L 1 6 11 8 4 11 8 13 1 14 3 14 16 5 16 2 10
t &t 20.0 121.0 13.0 :17.0 A 61.0 13.0 :17.0 12.0 :128.0 2.0 . 88.0 | 2.0 32.0 96.0 114.0
f B fL 13 9 14 10 1 6 5 16 1 11 3 14 16 4 12 2 8
f &&t 4.0 1120 . 1.0 9.0 | 25.0 28.0 130.0 73.3 1 6.0 45.0 1.0 35.0 5.0 72.3 {12.5
B&#IE 11 8 12 10 4 1 6 13 1 14 3 16 17 5 15 2 9
B 24.0 133.0 14.0 26.0 @ 86.0 41.0 47.0 12.0 201.3 A 8.0 1133.0 | 3.0 67.0 5.0 168.3 126.5

1 M 2 fi 3 fu 4 i1 5 | 6 fu 1 fi 8  fi
BFHE |x@E 1390 |2#HE|1050 |F1E | 51.0 |0 | 32.0 |FsEp 28.0 ;&N 260 |RfE | 260 |FE 25.0
TF#E  |fME 8200 |EWE| 63.3 |3CM 6225 |FE | 61.0 | 350 |iES 260 |RE | 240 | 17.0
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